(A% 1) AN
BUEHA (FE+=5RER)

I X £ =
(2D—) BEBERN#RE
I A -3 H
® H Temy ® H Cem)
TR {5 PR R R OB S R 516, 246 T E R 452, 036
ANHER 9, 389 PNES ¢ 101, 579
K h R 0 P 12, 688
ERT 130, 622 LR R 14, 465
FEBE « ARG 129, 742 WEILHER R AR 255
PRABTEER « AR < W 880 KEEBHE 0
Y5 0 AR IE 36, 975
xaliit 0 fEERTE 183, 259
W PR AZ 18 i 5 0 REELE 82, 102
#RiE 0 T e L 950
] 0 BB - (REHE 18, 725
T DAy 0 WILE A 0
fr & & ek 186, 841 T R S R 928
17 BRI 5, 483 Z Ofth 110
faf XX X Hh 94, 433 & FRES
tE 86, 925 i R R A2 0
PN SEE 0 e 0
iR R% 0 HEB 0
PR HRx 0 Z Ot 110
WS 0 R BRAEEER 7, 620
FiA 0 A 7y B20
Z DAt 0 REERE 0
W H IR AR 0 ToA 0
BESEM AL i % 0 il 0
BB TR E R R R 0 FEHEE LFE 7,620
VETB R A= fi R 0 T 7,413
fiefiada Kk <& 21, 347 7 207
eAEER - (R 0 Z DAt 0
5l fin 67, 349 A 0
8 0 M+ 0
+ i 90, 420 —IREF~ DA G E 69, 550




(£D—) BERRIESHE

I
® H ey ® emy
27 0
F DAt 10, 278
i FUEHE 357
7K 5 FBk 357
AR 0
HRST SRR 0
FEE 0
[ 3 4 255
Ry < 255
REHEBEAHES 0
EERAIETE TR & 0
F Dt 0
B - TR S 216
Tt AaEe® 0
ZHhEEAHEE 0
BISEREEHEAES 0
Z Dfth 0
NE 0
KEHEIR 0
EEAETE TF 0
B EETE A
Z A 12,132
FHokt 115
el A 2,110
HEA (—iR) 535
BRI (=) 9,372
—HRE b DBALGE 0
a G 529, 206 5 529, 206




(A 2)

(£DZ) BB HE

I X

® 3 S - H .
EEZ He 32,979 EREREHE 140, 514
FAHEFR 32,979 MNEE 79, 812
HEE R T 12, 942
RIEEHER - e 0 HEE 47, 760
B - TETA ST 4 0 AN & 540, 821
ELAR MR 0 EiEFEEAHEE 328, 266
T Hi R 0 BN FEAEHE 188, 993
RIEHEER - fREHEER 0 BT He 23, 562
JE A H g% 0 HE R 23, 815
ZEREE 0 HEEXARE 0
FEA R 0 MBI EEAHRE 0
EE R 0 BMEET HE 23, 815
RIGHER - (REHEER 0 R - REMERERE 0
B A faak EEEFXRHES 0
NE 624, 710 HmEhEEERE 0
FA SRR 557, 410 B AR 0
R 67, 300 VEEMTEIRE 0
R - REMER HE4 0
JE A gk 0 Bté 0
(= 0 Z Ot 0
Z Dty 0 B &RE e 0
BftefEES 0 FATHHEE 0
Z DAl 0 SRELERE 0
HERMe 0 | BREGAEEKESS 505, 725
REEGE D FAVITA 0 N 505, 725
FATHEEREER 0 EARER 293, 026
ERIE 0 7o 284, 677
=50 b DEAE 0 7 8, 349
SEREEENA 0 T R 212, 698
ELREEHEAES 0 TTé 203, 745
M+ 8, 953




(£DZ) BRERDHRE

I X

R B S i H e
— RSP LOBADE 553, 186 BRIEMIRY - PREMiER 1
HAN R 243, 458 JoAE 0
EE ik 169, 213 ) 1
BREER - Rtk 1 5L AR 5 0
[E AT % 0 o 0
YEZEAR 0 FT 0
HE & 0 (=35 0
Eft& T 0
F DAl 140, 514 Fl+ 0
FOfth 0
L& 0
F1F 0
— R EFA~DIRA L% 0
= 5 1, 210, 875 a at 1, 210, 875




